Bellwork HonAlg2  Monday, May 1, 2017
Solve each equation. Round to the nearest hundredth when necessary.
1. 41 -8Log(x+1) =9 2. 10+2(9)>* =13

3. e2-7=1

4. You invest $10,000 in an account that pays 5% interest each year. Find the number of years it will
take your investment to reach $100,000. Round to the nearest tenth.
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4. You invest $10,000 in an account that pays 5% interest each year. Find the number of years it will
take your investment to reach $100,000. Round to the nearest tenth. X

loo+5= s/ - |o 000 61105) = (eo (00O
o /e, orv [, 0TV

Teq 1208~
Ir:j [ '

/é)ﬂ/', FAY /U - X




